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0000000000000 e:S'—=Sl0000000000oooooo,o0n
OO0 Ry:x—z+a (mod )DDDDODDDO F:S'—S'00000 Fop=R,oF0O
O00.0000000000000000000 DenjoyDO0O0O0O0O0O00OO (DenjoyO
O000000000000,00000000000(000O0 00O0O0OO0)). Denjoy
OO DenjoyUOODDOO0OO0OO0ODOOOOOODOO,0D00000000. 00000
O{we S| #F(w)#1}00000000000 R,OO0O00D00OOO0 ([Poincare]).
O0000D00D000O0 double orbit number, 00 OO0 OO OO double point set O O O .
Denjoy 00000000000 OOOO double point set 0000000 ([Markley]).

O0000000000000000000 adicOOO (Bratteli diagram OO0 00000
0000000 adding machine) 0 0 00O ([R. H. Herman, I. F. Putnam, C. F. Skau]).
O000000 dicDO0000000000000. 00000 o0oboooooooog
O0O00000b000booobono. OO0 Denjoy0 0000 oobobOoobOODO
OooOoOoOooooooooooooO ([T. Giordano, 1. F. Putnam, C. F. Skau]). 00O
0 double orbit number 0 DO OO O Denjoy 00O O0O, 000000000 OOO0O
([I. Putnam, K. Schmidt, C. Skau]).

[3] O O double orbit number 00O OO0 Denjoy D00 00,00 adicOOOOOO
O00000.000000000000000DO0000DbD0On OstrowskiDOOOO
O00000doono. 0000 adicOOOOO0OODO, double orbit number OO0 O O O
OO0 DenjoyUUODOODOOOOOOOOOOOOODOO.

[1] 00 adding machine 0 000000 (04)n1e.. D00000. 000000000
0 0100...0, 0000000000000 adding machineOOOOOOOODOOODOO
O00.00 3|00000 Denjoy0 O adicO 0000000000 OODOO (double orbit
number +1)00000000000. 0000000 (double orbit number+1) 00 OO
0000000000000 00000000000. 00 double orbit number O 0O O [
O0O000O00oDbOoobOooD, StyrmO00O0O0OO0O0OO. DO0ODOO0ODOO Sturm
J000000000bD. o0o0obobb0o0o0ooobbobbo0oooooO Denjoyd OO
gooooo.



